73. Dracula has a big creepy-crawly
collection. He has 125 spiders, 63
centipedes, and some worms. There
are a total of 301 creepy crawlies in
his collection. How many are worms?

There are wWorms.
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74. Baby Miranda and Toddler Max are in the Mini-Misers Club.
Max has 20 fewer gold coins than Miranda. They have 300
gold coins altogether. How many gold coins does Max have?

Max has gold coins.
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75. Stu is selling parsnips and rutabagas. 2 parsnips cost $1.
2 parsnips and 3 rutabagas cost $10. What does a
rutabaga cost?

A rutabaga costs $
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76. Chef Shirley made 120 onion mini-pizzas for
the Onion Day celebration. They were so
good that the 12 kitchen helpers ate 57
of them. Shirley then divided the rest of
the mini-pizzas equally onto 7 serving trays.
How many mini-pizzas were on each tray?

There were mini-pizzas on each tray.
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